
Part #
 00100-  2 X 2 Methane Wellhead  7" Casing  2000#
 00100A  4 X 2 Methane Wellhead  7" Casing  2000#
 00100B  4 X 3 Methane Wellhead  7" Casing  2000#
 00100C  4 X 4 Methane Wellhead  7" Casing  2000#
 00100D  3 X 3 Methane Wellhead  7" Casing  2000#
 00100E  4 X 2 Methane Wellhead  7" Female Casing 2000#
 00100F  4 X 2 Methane Wellhead Steel  7" Casing
 00100G  4 X 2 Methane Wellhead 5 1/2" Casing  2000#
 00100H  2 X 2 Methane Wellhead 5 1/2" Casing     2000#
 00100L  4 X 2 X 2 Methane Wellhead 7" Casing

    METHANE MANDRELS
 00100MO  2 3/8 x 2" LP x 2 -1/2 LP holes OFFSET REDMAN
 00100MON
 00100N  2 3/8 x 4-bolt x 3 -1/2 LP holes  WILLIAMS
 00100NALB  2 3/8 x 4-bolt x 3 -1/2 LP holes ALB WILLIAMS
 00100L  2 3/8 x screw in cap x 2 -1/2 LP holes   STANDARD
 00100P  2 3/8 offset x 4-bolt x 2 -1/2 LP holes     OFFSET
 00100Q  2 7/8 8Rd ONE HOLE MANDREL 2  -  1/2" holes
 00100R  2 3/8 8Rd x 1 1/2 10Rd Mandrel
 00100R-Mod.  2 3/8 8Rd x 1 1/2 10Rd 4-bolt Mandrel Coleman
 00100S  2 3/8 8Rd ONE HOLE MANDREL 2  -   1/2" holes
 00100T  3 1/2 8Rd EUE MANDREL 2   - 1/2" holes
 00100Z

 00102A
 00102B

 Steel Wellhead Nuts

 00104A  4 1/2 8Rd Female J Wellhead        # 520101
 00104M  2 3/8 8Rd Mandrel for J Wellhead
 00104B  5 1/2 8Rd Female J Wellhead        # 520102
 00104M  2 7/8 8Rd Mandrel for J Wellhead
 00104BTiny  1.900 slips
 00104BS  2 3/8 slips
 00104BB  2 7/8 slips
 00104BL  3 1/2 slips

 METHANE WELLHEADS

 Off-Set Redman with 3 1/2" holes

 2" 11 1/2 X 2" 11 1/2 Packoff 2ea. 1/2" holes

       FLANGED WELLHEADS
 4 X 3 Methane Wellhead Flanged  7" Casing
 3 X 3 Methane Wellhead Flanged  7" Casing

       IMJ WELLHEAD



 2 3/8 upper plates                 # 520209-2
 2 7/8 upper plates                 # 520209-2.5       

  00104DS  2 3/8 lower plates
  00104DB  2 7/8 lower plates

 2 3/8 rubbers
 2 7/8 rubbers

  00105A   CJ Wellhead 8 5/8 Tubing 2000#         Frazier
  00105B   CJ Wellhead Nut                      Empire
  00105C2   CJ Wellhead Segments 2 3/8" Casing
  00105C3   CJ Wellhead Segments 2 7/8" Casing
  00105C4   CJ Wellhead Segments 4 1/2" Casing
  00105C5   CJ Wellhead Segments 5 1/2" Casing

  CJ Wellhead Uppers 2 3/8" Casing
  CJ Wellhead Uppers 2 7/8" Casing

  00105D4   CJ Wellhead Uppers 4 1/2" Casing
  00105D5   CJ Wellhead Uppers 5 1/2" Casing

  CJ Wellhead Rubbers 2 3/8" Casing  3 per
  CJ Wellhead Rubbers 2 7/8" Casing  3 per

  00105E4"   CJ Wellhead Rubbers 4 1/2" Casing  3 per
  00105E5"   CJ Wellhead Rubbers 5 1/2" Casing  3 per
  00105F2   CJ Wellhead Lowers 2 3/8" Casing
  00105F3   CJ Wellhead Lowers 2 7/8" Casing
  00105F4   CJ Wellhead Lowers 4 1/2" Casing
  00105F5   CJ Wellhead Lowers 5 1/2" Casing
  

  00106AM  A7 Wellhead 4 1/2" 8Rd Casing 2000# Male
  00106AF  A7 Wellhead 4 1/2" 8Rd Casing 2000# Female
  00106BM  A7 Wellhead 5 1/2" 8Rd Casing 2000# Male
  00106BF  A7 Wellhead 5 1/2" 8Rd Casing 2000# Female
  00106CM  A7 Wellhead 7" 8Rd Casing 2000# Male
  00106CF  A7 Wellhead 7" 8Rd Casing 2000# Female
  00106N  A7 Wellhead Nut                         Empire
  00106D
  00106 Clip
  00106EA  A7 Wellhead Segments 2 3/8"
  00106EB  A7 Wellhead Segments 2 7/8"

 A7 Wellhead Segments 4 1/2"
  00106FA  A7 Stripper Bowl Rubber 2 3/8"
  00106FB  A7 Stripper Bowl Rubber 2 7/8"

               IMCJ WELLHEAD

                   IMA7 WELLHEAD

 A7 Stripper Bowl Adaptor with o-ring



  00106HS  A7 Lower Plates  2 3/8"
  00106HB  A7 Lower Plates  2 7/8"
  00106HC  A7 Lower Plates 4 1/2"
  00106GA  A7 Upper Plates  2 3/8"
  00106GB  A7 Upper Plates  2 7/8"

 A7 Upper Plates 4 1/2"
  00106RS  A7 Rubbers  2 3/8"                       2 Per
  00106RB  A7 Rubbers  2 7/8"                       2 Per

 A7 Rubbers 4 1/2"                        2 Per

  00107A4M   HFC Wellhead 4 1/2" Male                Frazier
  00107A4F   HFC Wellhead 4 1/2" Female
  00107A5M   HFC Wellhead 5 1/2" Male
  00107A5F   HFC Wellhead 5 1/2" Female
  00107B   HFC Wellhead Nut
  00107CA   HFC Wellhead Segments 2 3/8"
  00107CB   HFC Wellhead Segments 2 7/8"
  00107DS   HFC Wellhead Lower Plates   2 3/8"
  00107DB   HFC Wellhead Lower Plates   2 7/8"
  00107ES   HFC Wellhead Upper Plates   2 3/8"
  00107EB   HFC Wellhead Upper Plates   2 7/8"
  00107FS   HFC Wellhead Rubber 2 3/8"
  00107FB   HFC Wellhead Rubber 2 7/8"

             IMHB-WELLHEAD
  00108A4M   HB Wellhead 4 1/2" Male
  00108A4F   HB Wellhead 4 1/2" Female
  00108B5M   HB Wellhead 5 1/2" Male
  00108B5F   HB Wellhead 5 1/2" Female
  00108C   HB Nut
  00108D

  2 3/8" Stripper Rubber
  2 7/8" Stripper Rubber

  00108ES   2 3/8" Slips
  00108EB   2 7/8" Slips
  00108FS   2 3/8" Upper Plates
  00108FB   2 7/8" Upper Plates
  00108GS   2 3/8" Lower Plates
  00108GB   2 7/8" Lower Plates
  00108HS   2 3/8" Rubber   2 Per
  00108HB   2 7/8" Rubber   2 Per

            IMHFC WELLHEAD

  HB Stripper Bowl Adaptor



  00109A  4 1/2" 8Rd Male IMS Wellhead
  00109B  4 1/2" 8Rd  Female IMS Wellhead
  00109SC  Spider Cap For IMS Wellhead
  00109D  Stripper Bowl
  00109EL  1 1/2" Slips
  00109ELM  1 1/2" 10Rd Mandrel
  00109ES  2 3/8" Slips
  00109ESM  2 3/8" 8Rd Mandrel
  00109EB  2 7/8" Slips
  00109EBM  2 7/8" 8Rd Mandrel
  00109FL  1 1/2" Uppers
  00109FS  2 3/8" Uppers
  00109FB  2 7/8" Uppers
  00109GL  1 1/2" Rubbers
  00109GS  2 3/8" Rubbers
  00109GB  2 7/8" Rubbers

  00110AF  4 1/2 8Rd Female K Wellhead        Empire
  00110AM  4 1/2 8Rd Male K Wellhead        Empire
  00110BF  5 1/2 8Rd Female K Wellhead
  00110BM  5 1/2 8Rd Male K Wellhead
  00110C  7" 8Rd Female K Wellhead
  00110CM  7" 8Rd Male K Wellhead
  00110C6  6" 10V Female K Wellhead
  00110D  Stripper Bowl

 Stripper Rubber 1 1/2
 Stripper Rubber 2 3/8
 Stripper Rubber 2 7/8

  00110E  Slip Bowl
  00110FA  2 3/8 upper plates
  00110FB  2 7/8 upper plates
  00110FC  3 1/2 upper plate
  00110FD  1.900 upper plate
  00110GS  2 3/8 lower plates
  00110GB  2 7/8 lower plates
  00110GC  3 1/2 lower plates
  00110GD  1.900 lower plates

 2 3/8 rubbers
 2 7/8 rubbers

           IMS-WELLHEAD

                    IMK-WELLHEAD



 3 1/2 rubbers
 1.900 rubbers
 2 3/8 8Rd Mandrel

  00110M  2 7/8 8Rd Mandrel

  00111AF   4 1/2" 8Rd Female Wellhead 2000#
  00111AM   4 1/2" 8Rd Male Wellhead 2000#
  00111BF   5 1/2" 8Rd Female  Wellhead 2000#
  00111BM   5 1/2" 8Rd Male  Wellhead 2000#
  00111CF   7" 8Rd Female Wellhead 2000#
  00111CM   7" 8Rd Male Wellhead 2000#
  00111D   Stripper Bowl Adapter

  2 3/8" Stripper Rubber
  2 7/8" Stripper Rubber

  00111E   Slip Bowl
  00111L   1 1/2" Slips
  00111F   2 3/8" Slips
  00111G   2 7/8" Slips
  00111HL   1 1/2" Lower Plates
  00111HS   2 3/8" Lower Plates
  00111HB   2 7/8" Lower Plates
  00111L   1 1/2" Uppers
  00111I   2 3/8" Uppers 
  00111J   2 7/8" Uppers

  1 1/2" Rubbers
    2 3/8" Rubbers

  2 7/8" Rubbers
  00111M   2 3/8" 8Rd Mandrel

  00112A     92-Wellhead 8 5/8" Tubing          Frazier
  00112B     92-Wellhead Nut                          Empire
  00112C2     92-Wellhead Segments 2 3/8" Casing
  00112C3     92-Wellhead Segments 2 7/8" Casing
  00112C4     92-Wellhead Segments 4 1/2" Casing
  00112C5     92-Wellhead Segments 5 1/2" Casing

    92-Wellhead Uppers 2 3/8" Casing
    92-Wellhead Uppers 2 7/8" Casing

  00112D4     92-Wellhead Uppers 4 1/2" Casing
  00112D5     92-Wellhead Uppers 5 1/2" Casing

    92-Wellhead Rubbers 2 3/8" Casing

                  IMR- WELLHEAD

               IM92-WELLHEAD



    92-Wellhead Rubbers 2 7/8" Casing
  00112E4"     92-Wellhead Rubbers 4 1/2" Casing
  00112E5"     92-Wellhead Rubbers 5 1/2" Casing
  00112F2     92-Wellhead Lowers 2 3/8" Casing
  00112F3     92-Wellhead Lowers 2 7/8" Casing
  00112F4     92-Wellhead Lowers 4 1/2" Casing
  00112F5     92-Wellhead Lowers 5 1/2" Casing

                  IM92 9 5/8 Casing Wellhead
  00113A    92-Wellhead 9 5/8" Casing
  00113B    92-Wellhead Nut
  00113C4    92-Wellhead Segments 4 1/2"
  00113C5    92-Wellhead Segments 51/2"
  00113C&    92-Wellhead Segments 7"
  00113D4    92-Wellhead Lowers 4 1/2" Casing
  00113D5    92-Wellhead Lowers 5 1/2" Casing
  00113D7    92-Wellhead Lowers 7" Casing
  00113E4"    92-Wellhead Rubbers 4 1/2"
  00113E5"    92-Wellhead Rubbers 5 1/2"
  00113E7"    92-Wellhead Rubbers 7"
  00113F4"    92-Wellhead Uppers 4 1/2"
  00113F5"    92-Wellhead Uppers 5 1/2"
  00113F7"    92-Wellhead Uppers 7"


	Sheet1

